Midterm 202 spring 2005 - Weedman Please type or cut-and-paste your answers directly into this e-mail rather than sending as an attachment. Thanks!!! For all questions, be careful to express your answer in your own words rather than simply quoting your notes or the text. It is NOT expected that you will need to use any other references beyond the required readings for the class and your class notes.

 

 _______________________________________ 

 

Part A. Short answer. Answer 5 of the following 7 questions. Answers should be 2-3 sentences in length (take this limit seriously!). Each question is worth 15 points. Don't answer more than 5 questions; any additional answers will not be graded. 

 

1. Which one of these Boolean statements is expressed correctly for a search on indexing and cataloging images? 

____a. indexing and images and cataloging 

____b. indexing or cataloging and images 

__X_c. (indexing or cataloging) and images 

____d. (indexing and images) or cataloging 

 

The terms 'indexing' and cataloging' can be used for the same or similar concepts. Therefore finding records that are about either indexing or cataloging and images would retrieve the best records. 

2. Someone just donated 2,000 historic photographs to your library. What should you consider as you decide what kind of metadata you should create for them? 

 

You should decide what your unit of analysis is, whether each photograph comprises one unit or whether groups should be created and cataloged as a single unit. You should consider the audience - who they are and if they have a professional vocabulary that should be used. You should also consider what metadata they would be likely to search on and what additional information would be valuable to the user but would not necessarily have to be searchable. 

 

3. Compare the document surrogates used by a single access point system to the surrogates used by a multiple point access system; explain how the nature of the document surrogate affects the kinds of need surrogates that can be created. 

 

A multiple point access system creates multiple surrogates based on different criteria and which can be assigned to multiple documents, allowing them to be stored in multiple places and allowing the document to be found through various methods. A single point access system has only one surrogate, or term, but which can also be assigned to multiple documents, allowing for better location of materials because they can only be in one place. The need surrogates for both these systems must be a single term, because only one card or access point can be searched at a time, and all search terms will retrieve all the documents assigned that term. 

 

4. Describe the way that the Library of Congress uses synthesis in creating its controlled vocabulary. 

 

5. Define the concept of an inverted file in information retrieval. 

 

An inverted file is an index of all the searchable terms in a database that are then mapped to the corresponding records. The inverted file has a list of searchable terms with a pointer to each record that matches the search and the database searches the inverted file rather than the records themselves. The inverted files are smaller than the records themselves and they therefore save time in the search process. 

 

6. Meadow says that information representations such as classification systems can show both similarity and dissimilarity (page 61). Explain how this works and relate it to the concepts of aggregation and discrimination. 

 

7. 4. In what way is a thesaurus better than an authority list? (Be sure you don't just define the two terms-you need to actually explain how a thesaurus is better.) 

 

An authority list, while controlled, doesn't contain alternate terms. A user would have to know exactly what term the authority list contains to make a successful query. A thesaurus includes alternate terms for searching, as well as syndetic relationships so it has a much more comprehensive list of terms through which one can access records. 

 

_______________________________ 

 

Part B. Slightly less short answer. Answer 3 of the following 4 questions. Answers should be no more than 4-6 sentences (take this limit seriously too). Each question is worth 25 points. Don't answer more than 3 questions; any additional answers will not be graded. 

 

8. Why is truncation useful in an information retrieval system? What does it do to your ability to aggregate and discriminate in a search? How does an information system process truncation? 

 

9. Some retrieval systems provide relevance ranking for documents retrieved; others do not. Give a brief explanation of the two kinds of system (note: NOT of each system, just of the two kinds) that shows how they differ. (You don't need algorithms in this answer; I'm looking for general concepts that explain the difference.) 

 

After a search has been performed, one kind of information retrieval system will either mark every record as 'retrieved' or 'unretrieved', and the second kind will mark them as 'retrieved and ranked' and 'unretrieved'. The first type of system has a straightforward yes or no in terms of a match and will retrieve all the matches, but it has no evaluation of the results. The second type of system attempts to assign value to the results based on an algorithm. The algorithm used might look at how many times a search term appears, how common a search term is in the language, link analysis, position of the search term in the document, types of markup tags used on a term, and other methods to give a ranking of all the matching documents. 

 

10. Write an explanation of the diagram with which we began this class, the Typology of an Information System (showing the document, document surrogate, need surrogate, etc.) 

 

The user need (the need for information) is translated by the indexing language into a need surrogate, or query, that the database can understand. Meanwhile the documents are assigned terms from the indexing languages that are applied to the document surrogates. These are the terms by which the document surrogate can be retrieved. A retrieval rule, such as requiring an exact or partial match, is used to match the need surrogate with a corresponding document surrogate. The system then aggregates and discriminates the document surrogates by applying the appropriate retrieval status. If the user determines that the results have satisfied the user need, the documents themselves can be retrieved, and if not, a new search is done, adjusting the need surrogate accordingly. 

 

11. Examine a directory from a search engine such as Google or Yahoo! and look for types of hierarchical relationships. List 3 genus/species relationships, 3 associative relationships, and 3 instance relationships. (Remember you have to show both of the levels in the relationship - for instance, Cats and Siamese cats as an example of a genus/species relationship.) 

 

Genus/species 

1. visual arts / sculpture 

2. diseases and conditions / anxiety disorders 

3. antidepressants / monoamine oxidase inhibitors (MAOIs) 

 

Associative relationships 

1. art history / art conservation and restoration 

2. diseases and conditions / institutes 

3. drugs and medications / drug policy 

 

Instance relationships 

1. masterpieces / Girl With a Pearl Earring (Vermeer 1665) 

2. countries / Mexico 

3. faiths and practices / Buddhism 

 

TOTAL POINTS: ____________ (possible points: 150) 

